ASSEMBLY INSTRUCTIONS

SKU 69122-69123-69124-69125

Please read through the fllowing instuctions before begining assembly
Check the parts list and lay out on a soft surface before assembling. Check for any damage.

Read manual fully before assembling. Keep instructions safe for future reference.
Not intended for commercial use.




@ M3.9*16 24X @ M4.8*45 1X @ M8*60  2x

(s fm
@ST4*14 2X @M4*8 4X

Read manual fully before assembling. Keep instructions safe for future reference.
Not intended for commercial use.




embling. Keep instructions s
nded for commercial use.

Not inte

Read manual fully before ass






1X

By

®

M3.9*16 8X

ference

afe for future re

embling. Keep instructions s

al fully before ass

ad manu

Re

Not intended for commercial use.



OB =
M3.9*16 4X




M4.8*45 1X

@ Bi——
M8*60  2X

ONy'=

ST4*14  2X

(8

1

Read manual fully before assembling. Keep instructions safe for future reference

Not intended for commercial use.




Read manual fully before assembling. Keep instructions safe for future reference
Not intended for commercial use.



®@ 1X

Ol

M4*8 4X

I

Read manual fully before assembling. Keep instructions safe for future reference.

Not intended for commercial use.













